O0E_10.pet {enid)y =L =
f0026_05.pet (crid) =R ==
fO02E_(08.pet (erid) =L =
f0036_C4.pet {crid) =R -
fO038_02.pct (crid) =L =
f0039_03pet(crid)=R :
fO047_01.pet (erid) = A =
fO049_03.pet (end) =R ==
fO050_01.per (crid) = A =
f0053_04.pet (erid) =R =
f0054_03.pet (enid) =R =
fO070_10.pet (erid) =T =
fO073_07.pet (erid) = L &2
2 s0076_07.pet (end) =R
;2 sOO87 O3.pet (crid) = A

f0076_07.pct (end) =R
{0087 _03.pct {erid) = A
f0091_10.pct (end) =T ==
0103_10.pet (end) =T ¢

f0105_ 03par(cnd)=R
08 O3.pet{end) =R =

fO0110_08.pct (end) =T :=:
f0112_02.pet (crid)=R ::
f0123_06.pct (crid) =T ==

f0126_10.pct (crid) = A =

f0127_04.pct (crid) =R =
1132 O07.per (erid) =L ::

f0134_03.pct (crid) =R ==
f0140_08.pet (erid) = A

f0146_08.pct (crid) =L =:
f0154_08.pet (erid) =T =:

f0160_0d.per (end) = A =
f0163_03.petfend) =R =:

fO171_08.pet (end) =T =:

f0172_08.pet (erid) =R ::
177 _G2pet{endy =R =2
f0178_02.pct (crid) = A
f0186_C4.pet{crid) = A ::

f187_(8.pet{end) =L
f0195_07.pet (end) =L =
f0207_05.pct (crid) =T &

f0208_05.pet(crid) = A =

f0210_0S.pet {crid) =T =
f0212_O4.periend)=T

[0217_02.pet (erid) =R =

f0225 _10.per{end) =L =

f0229_08.pet (crid) = A =

0233 _08.pet {enid) = L. =

SUOUE_10.pet (crid) = L
s(26_03.pet (crid) =R
s0028_08.pet (crid) = L
s0036_04.pet (crid) = R
s(Hi38_02.pet (erid) = 1.
s(039_03.pet (crid) =R
s(47_01.pet (erid) = A
s0049_03.pet (cnd) =R
s0050_01.pet (crid) = A
s0053_04.pet (erid) =R
s0054_03.pet (crid) = R
s0070_10.pet (erid) =T
sO073_07.pet (erid) = L.

sO091_10pet (erid) =T

s0103_10.pet (erid) =T

s0105_03.pet (crid) =R
s0108_03.pet (erid) =R
50110 _O8.pet (end) =T

s01112 02.pect (crid) =R

50123 _06pct (end) =T

s0126_10.pert (crid) = A
s0127_04.pat (crid) = R
s(0132_07.pet {ecrid) = L.

s0134_03.pet (crid) =R
sU140 08 pet (end) = A
s0146_08.pct (erid) =L

s0154_08.pet {erid) =T

s0160_08.pct (crid) = A
s0163_03.pet (erid) =R
s71_08.pet (end) =T

50172 _08.pet (erid)=R
s177_02.pet (crid)y=R
s0178_02.pet (crid)= A
s0186_04 pot (crid) = A
s(187_08.pet{erid)=L
s0195_ 07.petfend) =L
s0207 05 pctfenid)=T
s0208_03.pet{erid) = A
s0210_09.pet {crid) = T
s0212_0dpet (enidy=T
sOZ217_02.pct (erid) =R
s0225_10.pet (crid) = L
s0229_08.pet (crid) = A
s0233 0&.per (erid) =L




